
Answer on Question #79932 - Chemistry - Physical Chemistry 

Question:  

Solution of 0.1g KIO3 has been used to cure any of the symptoms of HCL, but it is possible to treat 

the thiosalphate varies from 45.0 ml to the same level, so that the thososalphate is available 

Solution: 

To treat any symptoms of CHL, you can certainly use Bertholeth salt, but compared to the amount 

of thiosulphate (if you count it for mass), Berthollet salt is needed more, Cheshiosulphate. On a 

larger scale, it is more economical to use thiosulfate, since this reagent is less expensive. 
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